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In right triangle CDE, C is the right angle, and D is 32o more than E.
What is the measure of all three angles?

I am the smallest whole number that rounds to 50 when rounding to the nearest ten.

A robot came out of a box knowing some words.  It knew a total of 37 words after 4 days.  

 Each day it learned 5 new words.  How many words did it know after learning 5 new 

words on the first day?

 

How many words did it learn after the third day?
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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

Find the GCF using the Birthday Cake method.

4 48 28
12 7

GCF: 4 = 4

2 24 14

GCF:

3 66 72

GCF:

2 20 18

GCF:

2 66 60

GCF:

90 72

GCF:

60 48

GCF:

27 30

GCF:

256 208

GCF:

240 192

GCF:

https://www.mathworksheets.com


Name:
Week of May 9
MathWorksheets.com

Spin again. I needed to spin time(s) to finish.

Find the GCF using the Birthday Cake method.

3 24 15 21
8 5 7

GCF: 3 = 3

4 40 36 24

GCF:

3 48 72 54

GCF:

8 96 80 144

GCF:

84 90 120

GCF:

22 20 10

GCF:

90 95 40

GCF:

24 26 30

GCF:
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Miss Walker drove 347.4 
miles from her home in 
Park City to Atlanta, 
Georgia, to visit the 
Coca-Cola Museum 
and visit with her 
grandmother. Then she 
drove 283.2 miles to visit 
her cousin in Dellwood. 
From Dellwood it was 
another 171.8 miles back 
to Park City. How many 
miles did she drive in all?

Robert made cookies for 

Remembrance Day. He 

made 1 2
3

 dozen chocolate 

cookies, 1 dozen peanut 

cookies, and 1
3

 dozen 

oatmeal cookies. If he puts 

the same number of each 

cookie in each bag and has 

no cookies left over, what is 

the largest number of bags 

he can fill?

Ms. King bought 1
2

 of a 

bushel of zucchini to put on 

her neighbor's porch. The 

zucchini cost $24.64 per 

bushel. She also bought a 

basket for $8.67 and 2.75 

yards of ribbon at $0.79 per 

yard. Her neighbor was 

very pleased with the pretty 

basket of zucchini. How 

much did Ms. King spend?

Fill in the missing letters.  Write io or ee.

decorat n goalk per refer antifr ze

stat n imaginat n t the posit n

Farmer Ochoa produced 2 
1
2

 times as much corn this 

season as he did last season. 

What was this season's 

production compared to last 

season's, expressed as a 

percent?

Gavin stepped on a bee 
Tuesday. On Wednesday, 
he had to take $65 out of 
his savings account to 
pay the doctor. Write an 
integer to represent the 
situation.

2 7
+ 4 7

84,322 - 22,115 =  32 ÷ 4 =  

https://www.mathworksheets.com


Name:
Week of May 9
MathWorksheets.com

2 6
- 1 4

70 ÷ 10 = 
Sara rolls two dice.  What is 
the chance of her rolling a 2 
on one die and a 3 on the 
other die?

11 x 5 =  

Sara is going to roll two dice.  
What is the chance that her total 
will be either 4 or higher on her 
first roll?

Emma rolls a die.  What is the 
chance of her rolling a 1? 27 ÷ 3 =  

For 64,269,517,689, write the 
digit that is in the hundred 
thousands place.

6 9 4
- 1 0 3

23 km = m

11 x 6 =  

Emma told Emily that she 
multiplied two consecutive whole 
numbers and the answer is 184.  
Emily doesn't believe that is 
possible.  She thinks Emily must 
have multiplied wrong.  Who is 
correct?

What number is halfway 
between 16 and 25?

3 x 4 =  

4 5 4
+ 2 5 8

1 lb = 16 oz

13 lb = oz

919 + 532 =  45 ÷ 5 =  
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11 x 4 =  (9 + 7) + 6 = 14 ÷ 2 =  

How many pounds are in 128 ounces?

 pounds

In the number 187,184,371, the digit 3 is in 
what place?

April likes to change numbers 
into a secret letter form.  
April changed the number 78 
to GG.  April changed the 
number 66,176 to GGGGG.  
April changed the number 
7,243 to GGGG.  April 
changed the number 317,859 
to GGGGGG.  How do you 
think she would change the 
number 674?

6,486 + 7,475 =  

1,549 + 5,749 =  

You are given three cards.  One 
card has the number 1 on it, 
another card has a 2, and the last 
card has the number 3 on it.  Use 
two cards to make a fraction.  
What is the smallest fraction that 
you can make?

27 ÷ 3 = 4 ÷ 2 =  8 x 11 = 

5 x 10 =  

Circle the smallest number:
56,479

3,904,851
6,728

493,570,612,082

7 x 5 =  
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3 5 6 5 ÷ x ÷ 8 3 6 2 5 4 ÷ 4 8
0 = 9 3

Use the pieces above to help you fill in the runaway math puzzle.

Write the missing family fact.

91 + 38 = 129
38 + 91 = 129
129 - 38 = 91

Four-fifths of the children in 
Brown's class want to go outside.   
If Brown agrees with the majority, 
will the class stay inside or go 
outside?

6 x 6 =  

Write 98,658 in words.

84 ÷ 12 =  

2,324 + 2,456 =  

4 ÷ 5 = 9

3

=

÷ 6 = 1

2 x

7 3 = 2 1 9

x = =

4 8 2 ÷ 7 = 4

3 x 3 = 9 ÷ = 5

3

= 6 =

8 ÷ 6 = x 2 = 0

x 4 = 6
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How many times
do you need to spin?

I needed to spin
time(s) to finish the page.

7 + 4 =

4 + 9 =

1 + 6 =

2 + 1 =

5 + 2 =

8 + 6 =

9 + 9 =

6 + 5 =

3 + 5 =

Spin fidget spinner.  Quick! I needed to spin time(s) to finish.

8 + 5 = 4 x 9 = 6 + 4 = 3 + 3 = 15 ÷ 3 =

9 - 8 = 3 x 8 = 5 + 7 = 3 x 8 = 7 + 3 =

9 ÷ 3 = 4 + 9 = 9 + 6 = 8 x 5 = 3 + 9 =

9 - 4 = 8 x 5 = 6 - 3 = 7 + 5 = 5 + 7 =

8 + 7 = 4 + 7 = 5 x 7 = 48 ÷ 6 = 48 ÷ 8 =

3 x 3 = 3 + 7 = 8 + 9 = 5 + 3 = 7 + 6 =

11

3 8

11

5

9

5

10

7

13

6

16 + 7 = 49 + 4 = 37 + 6 = 79 + 5 = 55 + 7 =

65 + 5 = 24 + 5 = 18 + 5 = 35 + 8 = 73 + 6 =

46 + 6 = 68 + 5 = 58 + 8 = 28 + 9 = 45 + 4 =

67 + 5 = 79 + 9 = 53 + 5 = 27 + 4 = 35 + 7 =

18 + 4 = 23 + 7 = 36 + 4 = 44 + 9 = 66 + 3 =
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#1Mental Math

Start with the number 156. 156

Divide that number in half.
7 8 4 5 6 7 3 2 1 8 (Circle your answer to double check you are correct.)

Divide by 2.
4 0 3 9 9 5 6 7 8 0

Add half of 32.
8 3 9 4 7 7 5 5 5 6

Multiply by 10.
4 9 9 8 1 5 5 0 5 9

Add half of 34.
9 5 6 7 3 8 2 0 4 8

Add the digits in your number. The sum of 
that is your new number.

6 3 7 6 2 2 1 8 9 9

Add 7.
6 2 8 1 2 5 9 3 4 3

Find the square root.
4 0 6 5 2 4 1 3 5 5

Add 19.
7 8 2 4 8 4 3 2 2 2

Subtract 11.
8 5 9 7 6 5 3 1 3 8
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-7 - 5 = -7 + -8 =
-60
-6

 =

7 + -8 = 21 ÷ -7 = -96 ÷ 8 =

-5 + 3 = 10 x -8 = -8 ÷ 1 =

-9 - -3 = 8 + -4 = -8 + -3 =

23 + -30 = -32 + 27 = 9 + -5 =
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Draw 3 pictures in the correct order.  Use each of the clues so you will know what to draw.

Draw 1 of these 3 pictures.
The picture IS in the correct spot.

Draw 1 of these 3 pictures.
The picture IS in the correct spot.

Draw 1 of these 3 pictures.
The picture IS in the correct spot.

Draw 2 of these 3 pictures.
1 of those pictures is in the correct spot.

Draw the 3 pictures in the correct order:

Draw 4 pictures in the correct order.  Use each of the clues so you will know what to draw.

Draw 1 of these 4 pictures.
The picture is NOT in the correct spot.

Draw 1 of these 4 pictures.
The picture IS in the correct spot.

Draw 1 of these 4 pictures.
The picture IS in the correct spot.

Draw 2 of these 4 pictures.
None of those pictures are in the correct spot.

Draw 2 of these 4 pictures.
None of those pictures are in the correct spot.

Draw the 4 pictures in the correct order:

https://www.mathworksheets.com


Name:
Week of May 9
MathWorksheets.com

Puzzle:

8 20

8 24

8 30

11

22 28 13 22 +
The sum for each column

and row is given.
= = =

= =

Work Area:

8 20

8 24

8 30

11

22 28 13 22 +

Puzzle:

16

9

11

27

15 20 14 14 +
The sum for each column

and row is given.
= = =

= = =

Work Area:

16

9

11

27

15 20 14 14 +
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Cross off the number that does NOT belong.

3, 3, 7, 3, 3, 3, 7, 3, 3, 3, 3, 7, 3, 3, 3, 

3, 3, 7, 3, 3, 3, 3, 3, 3, 7, 3, 3, 3, 3

Why does __________ not belong in the pattern?

Cross off the number that does NOT belong.

282785, 852827, 278528, 282785, 852827, 278528, 282785, 852827, 

278528, 282785, 852827, 278528, 282785, 852827, 852827

Why does __________ not belong in the pattern?
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Russia, Germany, Switzerland, and United States competed in a two-run bobsled competition.
The times on the first run were one minute and 38.73 seconds, one minute and 38.44 seconds,
one minute and 38.22 seconds, and one minute and 39.06 seconds.
The times on the second run were one minute and 40.95 seconds, one minute and 39.59 
seconds, one minute and 40.51 seconds, and one minute and 39.93 seconds.

Figure out the time needed for each run and the combined run time for each team.

1. On the second run, the team from Switzerland was two seconds and two hundred 
twenty-nine hundredths of a second slower than their first run.

2. On the first run, the team from Germany was fifty-one hundredths of a second behind 
the winners of the first run.

3. The team from Russia finished the second race in less than one minute and 40.61 
seconds.

4. The bobsled team from United States clocked a combined time of three minutes and 
18.03 seconds.

Russia finished the first run in  and the second in .

Germany finished the first run in  and the second in .

Switzerland finished the first run in  and the second in .

United States finished the first run in  and the second in .

35 ÷ 7 =  

Megan cannot open her 
locker.  She knows that the 
four numbers are: 31, 3, 2,  
and 30, but she cannot 
remember the order of the 
numbers.  How many 
different combinations are 
there?  List ten of them.

8 x 11 =  
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